

- Let  $f(x) = 2x^2 + 3x + 1$ . Use division to compute  $f(2)$ .

To compute  $f(a)$ , WE FIND  
THE REMAINDER WHEN  $f(x)$   
IS DIVIDED BY  $x-2$  →

$$f(2) = 15$$

$$\begin{array}{r} 2x + 7 \\ x-2 \overline{) 2x^2 + 3x + 1} \\ \underline{-(2x^2 - 4x)} \phantom{+ 1} \\ 7x + 1 \\ \underline{-(7x - 14)} \\ 15 \end{array}$$

- Let  $g(x) = x^3 - 5x + 7$ . Use division to compute  $g(-3)$ .

$g(-3)$  = REMAINDER WHEN  
 $g(x)$  IS DIVIDED BY  
 $x+3$  →

$$g(-3) = -5$$

$$\begin{array}{r} x^2 - 3x + 4 \\ x+3 \overline{) x^3 + 0x^2 - 5x + 7} \\ \underline{-(x^3 + 3x^2)} \phantom{+ 7} \\ -3x^2 - 5x + 7 \\ \underline{-(-3x^2 - 9x)} \phantom{+ 7} \\ 4x + 7 \\ \underline{-(4x + 12)} \\ -5 \end{array}$$